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2
Answer any FOUR questions.

Question 1

Read the following passage. Answer the questions in English.

IR YTy M Y DM cART 00 XIT DT poy o8 120 A9R 52
0277 VAT N3 MY TIY PIWN ATIR W 1Y YO 7712
Y2 DRNRT DR 073 DRI N DR 72 O'RDT MR 127 1R WK

R

DMIRWIT) T 1520 0P 070 771 1020 V2N 1IR3 183 DT Py

XY 1% 1R MR 5210998 92 NRY TR O ©37 93 PR RN 903 17
RIT) YT 0728 T3 997 KN (0102 28 &M 197N 07IX IR 13 W37
VRN 012K 17130703 07 Y MR S0 TN STINT R0 383 130

T TPYNIND B Ry 73 13 P 12T N8 P PR 7138302 01
PYRT? IXNPR TR 217 1Y 09TV 0N PTI NI P2 0Py P 7T
XY DY N DWIT DR O3 VT I v 0I5 NX 031 €277 93 Nk 2N

R IR TR 03997 MR EYL7TD DR NisTn 12w R INRRS 510 791
-7 1712 M P D7 X0 078 770 P13 270 17207 pry X1 MY Py
1P2Y 58 TP 0B TP 1P7Y SR8 073X P WM APy
93107 11 0738 X O 720 0N 1730 YR 12100 T3 Y 130 R
IRV T3P 107y 580 9RO I B0 77 98 D3N a7 MR U
;072X MR AP IR TIRN KD 77 R D3 rpx ox) ) i T vInn o
NV TR T PR 1357 TN DUIRT P O D28 TR P13

:0pM MY o7

T2-7,1-1:T 1WKR73

Genesis 14:3-5, 10-24
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(@) TR 92 (line 1)

Who does the phrase refer to?

.............................................................................................................................................. [1]
(b) Translate line number
Y 1720 AR OO 725 OX W0 FIND W3 0TI P 5
20210998 53 PR T 070 ©27 93 MNP 903 T OWEIM 6
.............................................................................................................................................. 2]
(c) Translate line number
NI 1297 0138 T3 ©0heT K3 7
PIY DTN TP 0703 0T 23 TN TN TR TONT Xm0 N 1Y 6
T T NIRD B9 Y MY i YN IR PTIVAR 7Y I 0NIR 9
q7 10
.............................................................................................................................................. [4]
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4
(d) In what way do Abram / Avram and his men fight a successful battle? (lines 10-11)

Give three points.

.............................................................................................................................................. [3]
(e) What proposal does the king of Sodom make to Abram / Avram? (lines 15—16)

Give two points.

.............................................................................................................................................. [2]
(f) How does Abram / Avram emphasise his reply? (lines 16-17)

Give three points.

.............................................................................................................................................. [3]
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5
(g) What does Abram / Avram expect from the king of Sodom? (lines 18—19)

Give two points.

.............................................................................................................................................. [2]
(h) Explain the meaning of the name 0’1’7 :'l]_tg' (lines 3—4).

Give two points.

.............................................................................................................................................. [2]
(i) Explain the terms

@) P9y S-x (line 14)

(i) 153 (line 18)

...................................................................................................................................... [2]

(i) Why is the word TIJW (lines 1 and 2) in the singular?

.............................................................................................................................................. [11]
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6
(k) 12" (line 3) and Ni3N (line 12) are from the same root / shoresh.

(i) What is the root / shoresh?

(ii) Explain the different forms of the two words.

[Question total: 25 marks]
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Question 2

Read the following passage. Answer the questions in English.

139 7208 D738 XA X ToN7 R3 0738 58 ¥ 12T M7 1287 071377 N
PYR 12007 721 020K 100 10 3T1-X D3N N TTRD 1277 730 77
DIIR G 10313 TN Y R0 KO 0D 17 D138 TN BPON P 83
IR RYP YT RIT YD XY WX OX D M P &S TaxG vHR » 937 mm

e 19 17 NN 0K T80% 9211 O 0022137 901 MR I VAT VNN XN

O3 TRR IR TEN 8 Vo 3R 15 T 03 1N
PON MNP TR D PIN 7193 1 TR RN ANY7 INKT PINT 1R 77 007
MBI 72 7 19 AR D1 T W SR e ) Me'wn now Y iy
YN 09T O YT T NI KD AB¥T NN ITYY NIRRT N3 BN 1 T3 DR

:0728 DN

3T R PP RPN 07 0N HINT AN 2w XM R0 235D » Yo RM

TR VIOLAYIN AN N N9 DONT? PRIRTI VYN DI DU YT
D237 8T 00 LD &Y F1R? :773Y 7R 3PN NI DX TPYI ITONRYD &) DN
D273y %Y 0073y 12 By 2 13pR X 0237 110 07 N9 AIMRRY YT ARR Dy
DD 9% 772 TR T DR NI DTI2X TN 10027 WK PPN 13 1780
WIT 9N 1T 3101 7R3 13 M 0713 P P37 R Ny b1 s n'Fo mop

AnR Niy? 1N

T-N:17 ,N7-NX:10 PwWNA3
Genesis 15:1-11, 18:1-7
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9
(a) 7PN D27 NN (line 1) (After these events).

What events does this refer to? Give one point.

.............................................................................................................................................. [1]
(b) (i) Translate line number
PYR 120 725287 100 7 051K D3N TN 2
DIIR WP 00313 I YU NI KDY 17 0138 W MPON P ITrI 3
SO RIT PYID KY WK OX 0D M Y KD MRG vor v 31mm 4
.............................................................................................................................................. [4]
(ii) Explain why the words 712"?{5 PYRT (line 3) are written in this order.
Give two points.
...................................................................................................................................... [2]
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(c) How does G-d assure Abram / Avram of a positive future? (lines 5—-8)

Give three points.

.............................................................................................................................................. [3]
(d) Translate line number
N DUDT DY LYT TN KD TO¥T ARV NTR? N3N 9
LR ONR - 10
.............................................................................................................................................. [2]
(e) The following phrases may be difficult to translate.
N0 nap (line 16)
iR niy? AN (ine 17)
In each case, explain the difficulty and give a solution to one of them.
.............................................................................................................................................. [3]

© OCR 2015
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(f) Give two possible meanings of the word nw‘wn (line 8).

.............................................................................................................................................. [2]
(g) Give the root / shoresh and conjugation / binyan of
(i) ARYI? (line 7)
...................................................................................................................................... [2]
(i) 2¥N (line 9)
...................................................................................................................................... [2]
(h) Show how Abraham / Avraham
(i) trusts G-d.
...................................................................................................................................... [2]
(ii) is kind to his fellow man.
...................................................................................................................................... [2]

[Question total: 25 marks]
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Question 3

Read the following passage. Answer the questions in English.
Paragraph 1

» VIR T Y IR TRYNT TR |93 11T ORE 13770 )
MY O3 T O 0 51320 0N PN TR YT N oy v
TEY-TON PYIR 290727 523 MR PR LY OYPnN YY)
DYW—IMERN T IR N 27§720 P2 138 i3 eoR M7 Ay
W Y93 YA TR MT2 N AT 3-5Y Ton7 M-y
NN T3 €222 WIR-5KR 0IR9D T AEN (E-nR 1P
DIRY—0Y 0 IIN-DY M7 TOMT Oy WK »7 0NR 00373 oY
D27 PPN 1238 03 NANI 7O 0203 »=w ARy ANK N3pm
YT OT M A ST 2277 DIPVY, TR NN 120070
7705 AP MR TNR-03) PRY 0238 N3 Yn-nah
077y
Paragraph 2
PINND 7 MR TV 113 P2 PNY 103 13 Apnond NP m
TR MNIR-OR RN PR-NI T9¥T IO B399 DINGD (HNE 1033
NN MEFA-EIR 72708 TR IR M 2R W3P8-OK 1IR3
TR PIRY | 12-0Y TON-TrYN 09T ATY WK 3w 293 ¥R
DY PN 11 7Y oM MI-T3 AEnT N IYIR-08] YIN-O8
12703 M7 7 Y30 WRD 3 12 PO 1131 IR7 0T-8 -
7 REI-NR ORI WY 3 139007 Payah S5-nopR
w77 T 53-K85) :p2w W3- 170 -5 Sxe-Sy
TT-58 | D°IR77 AR ML AR DR 727 NIR-NN
2077 T T TITOAR N2 7072 TR PIR-R7 TRY YOS

OR-D2-ny PO
2-1:0,1-K:3, 2 Sxow '

II Samuel 2:1-7; 3:6—12
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13
(@) 12MR>T (line 1)

What event does this refer to?

(b) () 217137 52) MR P3aR) What difficulty is there with this phrase in the context of

this passage?

...................................................................................................................................... [1]

(ii) Offer a solution.
...................................................................................................................................... [1]
(c) Translate line number

YN OPT AR AN 9
7905 ATT-12 M NN-03 PIRY 03I N—3 P-a% 10

omhy 1

(d) What is the derivation of the word Wa‘?’s (line 14)?
Give two points.

©OCR 2015 Turn over
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(e) What does Abner / Avner mean when he says

AT WK P3N A9 WNIT (line 15)?
Give two points.

.............................................................................................................................................. [2]
(f) V:_-W,D" WRI-MN B (line 19) What is the significance of these two towns?
.............................................................................................................................................. [2]
(g) Translate line number
2877 1 53-8 19

T7-58 1 03892 MR N9WN MR IR 127 NIR-NR 20
2077 Iy T TITOAR T2 012 TORY P07 TN vAnn 2

ORE-S3-nR PR 22

© OCR 2015
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(h) Explain the use of the letter 7 in

(i) TN (line 2)

...................................................................................................................................... [1]
(i) T (line 13)
...................................................................................................................................... [1]
(iiiy XD (line 16)
...................................................................................................................................... [1]
(iv) 1173 (line 21)
...................................................................................................................................... [1]
(i) Why does David use the verb n'wxrr in the phrase
T ) NNR3 TYRT (line 1)2
Give two points.
.............................................................................................................................................. [2]
(i) There are several differences between the kindness David intends for the men of Jabesh-
Gilead / Yavesh-Gilad in Paragraph 1 and the kindness Abner / Avner intends for David in
Paragraph 2.
Give two differences.
.............................................................................................................................................. [4]

[Question total: 25 marks]
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Question 4

Read the following passage. Answer the questions in English.
Paragraph 1

7D 3921 PWPHR) NN O 10N 221N Py 07ea 19 o ning 198
22179 SR8 5 7707 T NK TUR °3 A2 WU 07991 VTN VaYoR)
TR PRYD WO NI DAYO0 [THXRT 0N TP T YN N7 N8 Upa? onwos

N33 712y 1T 78 0NN T3 DINNT Y0 OX T2RNT TON? »3 T SREn
YIIN NN P72 TN TIT DY 02N D¥I2 Y33 MDA DREHIT NN 0N
DX DP3YY NN DY 11371 :0°%79 Y3 NI 0BT 0Y R 12 7 0 1192 027
&5 NN »2 T1T IR 0RO Py WP NSYY 0mehD i w0 IR M1
Y O1p N YYD N3 P10 07 IR 0PI 98 307 1280

N3 12 T PPN DIEY0 MaNn3 NI PI0T Y RY I OD P W ORIITYNI

I3 TN T Y20 W7D N T Ty

Paragraph 2
770 0P 7223 710 MWRM N7 IRPT? PRE N2 S0 Rym irea g 77127 17 28
S8 T N DR R M%33 NI93T3 1Y NIt Py 0T A9 WK SR
PR 7Y 0y Oy T3 TN KD 03 530 PIND 3 T3 WK 97 5
DIZy TV T NIIRT DY) °PY2 920 ) NN Ty 1o 397 1pne

Ny o 1y 1 A% 17 &S 5w N2 Snh i

29-5:1,A9-77:1 2 bxmnw

IT Samuel 5:14-25; 6:20-23
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(a) i% 0191 Who does 15 (line 1) refer to?

(b) (i) Translate line number

721790 98 7y To07 MR R 2 DI wv 2

TDPRD PRY3 WOR NI DAY TRRRT 08 TV T YN NT NS YR 0Ahe s

...................................................................................................................................... [4]
(ii) Explain the use of the niphal in aw‘tggn (line 3).
...................................................................................................................................... [1]
(c) »3mM 58@?] (lines 4 and 7) What method does David use to ask G-d?
.............................................................................................................................................. [1]
(d) Give two different meanings of the phrase ¥R N7 ORE (lines 6-7).
.............................................................................................................................................. [2]
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(e) Translate line number

RS mxnramoren 7
R332 5w onY RN OPIR YR T AYN 8

.............................................................................................................................................. [2]
® Wy 5P NN e T
DIY?9 M0 MIDT? TI97 7 XY 12 PN N OXIIT YR

What does G-d tell David in this sentence? (lines 8-9)

Give three points.

.............................................................................................................................................. [3]
(g) Give an example of a simile in Paragraph 1.

.............................................................................................................................................. [1]

(h) In what clever ways does Michal use language to convey her message to David?
(lines 11-12)

Give three points.

[3]
© OCR 2015
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(i) How do we see David’s devotion to G-d in these paragraphs?

Give four points.

[Question total: 25 marks]
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Question 5

Read the following passage. Answer the questions in English. line number

"I MY DYIRT 037 P71 YR3 0337 Ty MmN ek sma maw ny) orm
197 20033 72, B WRD 1291 I 03 RN 7 UM 03 LN IR IR 2 197 2
MIRY? 2 020 TR0 0% 09203 S8 ©RY NP7 R ANy 7T 0T W W MR s

.-r:w 13N ﬂpxhl :Fl; np:-r nm nmnn‘? ﬂDﬁ}) Pt_ﬁ'm_ My ﬂg’;;ﬂ] ]‘21]7 mwm M Mea 4
TR I T2 03 WIOM IR I TR 00D I I PN N Ay o8 TR s
D) MR PTARR TN 270—8 PR Y TEY POR PO WK TR 27N WK 80D 6

PP 53 OTM 0N 03 NI T 007 M3 N3 T OPOY MM EPoR 131 bmnm 6

9711 0702 87207 IR Y2 °% TIRTN DR IPOR TORM D0y N ITaRMITIY 9
29 PIT-TEY 2 MY MY R MIRIPN R Y YT 0PN R R R IRn 10

DWW PEP NINN2 0N M3 IR T IR0 TR 1IET ARy AN IARTIT MY WM 11

23-KuN M
Ruth 1:11-22

© OCR 2015
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(@) Translate line number
’Jj'J.":.l HQJW 1

T2 0033 F12) DN WK 2020 I 03 PN 7 U RYaR 02 VD MR IR 2 197 2
83103090 R 7 1202 M3 SR WY MPOR737 M T W W W Man 9

R 4

©OCR 2015 Turn over
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(c) Show how Ruth is devoted to Naomi. (lines 4-7)

Give four points.

.............................................................................................................................................. [4]
(d) What is unusual about the construction of the word DU’B{D (line 8)?
.............................................................................................................................................. [1]
(e) What are the roots of
(i) Onm (line 8)?
...................................................................................................................................... [1]
(ii) M7 (line 9)?
...................................................................................................................................... [1]

© OCR 2015
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(f) How does Naomi contrast her situation in earlier times with her situation in this passage?
(lines 9—-10)

Give four points.

.............................................................................................................................................. [4]
(9) Where is Moab?
.............................................................................................................................................. [1]
(h) Give two ways in which negatives are expressed in this passage.
.............................................................................................................................................. [2]
(i) Give three metaphors in the passage.
.............................................................................................................................................. [3]

[Question total: 25 marks]
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Question 6

Read the following passage. Answer the questions in English.
Paragraph 1 line number

DR 7T 73 917 N9 N1 1Y 233 ARNPN PYRY W7 AM A7 ANey oM 1
OR T93 0971 1IN 1027 ¥ TWRD TRy YR DNND T AR AN MG NN DORY 2
FTY23 0380 927 OND 07 M 1y 233 DR wRY NIZM TN MY AN 127 10D 9
397 BN » 1731173 2333 D777 "IN DIX DIV 08 W92 91 08 M09 w4
12 771273 X5 OR WP PO T » N9 SR W73 P MR RIS 037 AR 5
23 Y NS 13T P¥R7 UNT? 072y NN ORI Wi MRt oy AN AN ey 6
N NN2°3 77107 M TN 1y 22 770 Y8 08T NN Mown msyea v 97 v13T 7
INT7Y3 YN NN ONTL? MR 2 M09 P3N0 O 11y 33 770 M 2Y W3 oYy 6
D19W2 NN APVT AN 1TPT W PRI MW 0En

Paragraph 2
M2 M Ay &5 03 IR 173 U552 0390 YR *na napnw KT M SR A MR 10
'N727 DWIT RO XTI NP7 R WK TR TYY ONWIOY PR3N 1
DT PAIRY KRR IR 0027 08 N2YN M R 2

Paragraph 3
WK MR ANTAN? 1M T2 P00 Y MR 07 nup ToR Anion A7 mRm 13
»9 NI 2 AN937 Y MNP YA O Y IPRY WK UIRT O IRM By 1Ny 14
SRIYTNZRID YINRT MY 2177 0y A TRM 00T PR 00T NN 1700 2y XD WK 15
YR D2 MR 192 DX TY PRITN 7 WK DT OY 78 108 3 03 MANIT M RM 16
MR T2 72 WD K9 P O XYM 0D ORI 210 ANTD M OR MY MRM 2L WK 17

NN NR 2wm owna PI D"f})fzﬁij PyP mL)B: w UP")‘? WA ﬂ‘l'\}_{;; p3Tm 18

-1LKX D00
19-07,0-r1:2 .01

Judges 11:6—-13
Ruth 2:8-9, 19-23
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(@) Translate line number

0N RO T3 917 NS Mo 18y 2323 TRNPN PYRY N7 AT A7 An:y N

TTLT O

:027 9% TWRD 7R IR DNRD THVAR NI OMPBPMONIR 0NN 2
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(c) How does Boaz look after Ruth? (Paragraph 2)

Give four points.

.............................................................................................................................................. [4]
(d) How does Naomi praise Boaz? (Paragraph 3)
Give three points.
.............................................................................................................................................. [3]
(€) 1PN % WR DT OY (line 16)
(i) How does this statement of Ruth differ from the statement of Boaz in lines 10—117?
...................................................................................................................................... [1]

© OCR 2015
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(i) What might explain the difference?

Give two points.

(f) Translate line number

FANAN PR AWM DU DY DR YR M9 T vph A Ny patm 8

.............................................................................................................................................. [2]
(g) Explain the function of two of the three dots in the word FIJ]‘?.‘;S (line 17).

The answers must include the correct name for each dot.

.............................................................................................................................................. [4]
(h) Explain two different ways in which the word OX is used in these three paragraphs.

.............................................................................................................................................. [2]

[Question total: 25 marks]

END OF QUESTION PAPER
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